
Subject: Re: Who would win?
Posted by EvilWhiteDragon on Sat, 16 May 2009 01:38:05 GMT
View Forum Message <> Reply to Message

Zack wrote on Fri, 15 May 2009 22:46R315r4z0r wrote on Mon, 11 May 2009 16:35Because if it is
from the American movie, then the Decepticons would win due to their ability to read any motor
vehicle, copy its makeup, and transform itself into it.

Zack wrote on Wed, 13 May 2009 20:09Um. Nod has an EMP cannon. kthnx.

Well, since that is most likely an electronic feature, it would be shorted as soon as Nod deploys
their EMP. EMP = bye bye circuit boards
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